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ms Poucts &sums 
A, Prove tuat sin 20'sin 40 sin 60 sin So 3 
2. Find tte vatue 89 Cus 8o°+ cas 4o°- cas 20 Ans: o] 
3. Show ttat cus s- sin 2s° sin 3s° 
4, 3h0w ttat sina- SinB 

c AtB 
CosB- coSA 2 

S, Prove ttar)- sine+sin20 +s/n40 +stn5e 
ton 392. Cas e +OS28+coS 40 + eoSSO 

6. sinCB+-) +StnCc+4-B) + sin Ca4+B- -Sin(A+B+g 
aste produc 61 3sines 

7. press 4 CoSX eosB Casy as te Sum A 4 Cosnes. 

8. 9sin A = m sinB, PaDve ttat- tan a 2 m-l tn AtB 
m+L 

9. Prove tuat /cosA+cse +SinA+Sin )= 29" A-8 o SinA-SmB CoSA coSB 

22ro accoreing as mis even or 80a 

1o, 9 sm +Stn pa and cs e +cos s= b,showtuat 

+an 2 t 4- 2 

l, 9 
tan (Ot) PPove tthat tan CO+8 tan (+9 

4 si*- + Y+2_ si*(E-Y) +2 sit( -2 

12, Eralm ale- 2n7o Ans - J] 2sto 

3. beluoeen 0 and 2n, eB be the tuoo Soutims 6 
the eanahom asma +btosz +c 2o, tenpove ttaF 
a-btm t o Sin+ 2 4 b 



49 cos (x+Y) cos (1-), how tat (a4b) temx -la-b)A7 
I5. Cos 20 cos 4° s Go os 80 tan20' tam 4o te n9o a 

6. Prove tthat ena + Sin+ Sim- Sin (B+Y) 
4 Sin B*Y sin YA sinte 2 2 

7 Fta sinmplest value & cesio'ws 10s 130|g:-OJ 

18. Fna te value A for urti cd cos A Sn(A-V) ts mar. 

9.9jcoS +yS1n cosS +y S B Show tear ; 

20 6 cosecA +SecA Cocee B +SeB, Show tat 

tan A+B) cA &AB. 
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